2A: tMEZ

HE: OIFE MBIIY IE(SDINUOE /LT - 21

B WY 2elsy 28

2A -3 -GAA(3A) - MEAY - BES Oif AFoH PIE-L Husz
OHMEZ L 4,898,727 1,432,727 3,466,000
= 174,859 174,859 0
£ 1,000,000 0 1,000,000
S 468,000 318,000 150,000
& 3,255,868 939, 868 2,316,000
OLNEE MEDIE IH(SIEAALAN /TN - 1) 4,395,459 933,659 3,461,800
= 174,859 174,859 0
£ 1,000,000 0 1,000,000
e 468,000 318,000 150,000
< 2,752,600 440,800 2,311,800
M 2elss 28 4,395,459 933,659 3,461,800
= 174,859 174,859 0
s 1,000,000 0 1,000,000
e 468,000 318,000 150,000
S 2,752,600 440,800 2,311,800
HHUS sEMA 28 274,100 224,300 49,800
202 o1l 46,000 35,200 10,800
01 =W OILI 36,000 25,200 10,800
OMHUS g2Fa 36,000 25,200 10,800
303 Z&3 4,000 0 4,000
01 Z&3 4,000 0 4,000
OMLtotN 2ACIRA A3 4,000 0 4,000
405 Kok SH| 35,000 0 35,000
01 AR EZHSHI 35,000 0 35,000
O PEE HAFXI(UPS) A 35,000 0 35,000
I BS2E & 171,000 147,000 24,000
ES 88,000 88,000 0
== 83,000 59,000 24,000
307 2I1ZHOI A 24,000 0 24,000
02 2IZHF MM R 24,000 0 24,000
O3 020 tdZEY X& 24,000 0 24,000
SITHOHE AlMIHS XI& A 1,356,000 0 1,356,000
403 Xt XIS SXH=01 A 1,356,000 0 1,356,000
01 AXSHHA=ZEE 1,356,000 0 1,356,000
OSHMSHA AL K& 1,356,000 0 1,356,000
C2HE Mugs SMEF Oid 150,000 0 150,000
S 150,000 0 150,000
401 AIEHIZL 2 THYI 150,000 0 150,000
ES 150,000 0 150,000
01 Al&H| 150,000 0 150,000
OEZHE MUHYS SAMEH A 150,000 0 150,000
S 150,000 0 150,000
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RA: tdSZ0

A OLME MBIIE IR (STENLE/THHY T - 2LH)

B2 WY ZelssE 28 (et &)
2A - . (3H) - NIFAL - BES Off &ty BN , HBEZ
Osds SEYEANAE 25 1,000,000 0 1,000,000

£ 1,000,000 0 1,000,000

403 M SHHMSH=01H 840,000 0 840,000
£ 840,000 0 840,000

01 XM A=2ExE 840,000 0 840,000
OAzZ DISds SEHEBALEH 25 840,000 0 840,000

£ 840,000 0 840,000

405 XHakS S| 160,000 0 160,000
= 160,000 0 160,000

01 MU ESSHSHI 160,000 0 160,000
Ok DIS¥s SEHLBANAEH 25 160,000 0 160,000

g5 160,000 0 160,000

Oelol2S 3% CCTV € XA 882,000 0 882,000
403 TtXIH S X=01H 882,000 0 882,000
01 AtXISHHA2EZE 882,000 0 882,000
OoelolEs7Y CCTV X 882,000 0 882,000
2L (HESZ D) (OIEH/DIE) 74,968 70,768 4,200
Jl=3l 74,968 70,768 4,200
2A2E JI1=2384l 74,968 70,768 4,200
201 B2 44,368 41,668 2,700
01 AH22eldl 44,368 41,668 2,700
EA2E AR22H| 44,368 41,668 2,700

202 0iH| 16,200 15,000 1,200
01 =LHOfHI 16,200 15,000 1,200
fA2E UL 16,200 15,000 1,200

203 A R=AlH| 14,400 14,100 300
EA2SARFNH| 4,500 4,200 300
©30¢! 0I5t 4,500 4,200 300
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